= AH O
N = 0 &8 AF S & Al A
20128 20Aa LBGIH SR ~ S22
2A: S22
Mz B A2 (YetssE /YL A 2AL])
Cel: BHE e (crel:ael
_ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
E210 64,766,551 62,466,318 2,300,233
= 203,991
2 71,000
< 39,227
Al 64,452,333
SES doj2e|(dets sy /UHL dHH2) 56,868 0 56,868
ZHE M2 56,868 0 56,868
o122 56,868 0 56,868
101 @124 H| 3,168 0 3,168
04 JIZEHI22RsSE% 3,168 0 3,168
OdHIHEE &Y L AR BX
3,168,000 3,168
201 B2 H| 49,700 0 49,700
01 AF22t2lt] 46,700 0 46,700
oYet+=gH| 35,000
oxl3l4HEN EESHE 10,000,000 10,000
o J|Et=2H| 25,000,000 25,000
oed9sd 1,700,000 1,700
O=&H| 10,000,000 10,000
02 3329l 3,000 0 3,000
OBZ222YHA 3,000,000& 3,000
203 g L=2Zd| 4,000 0 4,000
03 AIBH =X Q2 =X Y| 4,000 0 4,000
O2HEANH H2=A 4,000,000& 4,000
Ky At g (Lt N /ALl ) 6,011,137 6,301,938 290,801
= 8,381
< 36,727
Al 5,966,029
SIS 24 X MM 238 575,509 679,212 A 103,703
< 7,390
Al 568,119
gz g4 80,000 80,000 0
== 7,390
Al 72,610
308 XtXI S SO0l H 80,000 80,000 0
== 7,390
Al 72,610
07 Wi ZSAXNIBAEX 80,000 80,000 0
oXEudz 84 80,000,000& 80,000
< 7,390
Al 72,610
NEZQABZZA 341,180 436,805 A95,625




SN B2
Rz K| gt
(==l fe=)

[S= =)
el RI1Xol

A0l d 8@ MM 23t (¢t &
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
101 @1 21| 27,638 25,853 1,785
04 D12t 22 XNHSE+ 27,638 25,853 1,785
Odl M &l ztel 14,185,000& 14,185
Oo=2dY 2 I8 Jt2J| A 13,453,000 13,453
201 2et2FH| 187,000 226,000 A 39,000
01 AtR2t2|dl 57,000 100,000 A43,000
OYdet=2H| 30,000
oJizJd| &€ =J[Z0 WA 10,000, 000& 10,000
o J|Et=&HI 20,000,000& 20,000
o2dY 10,000, 000& 10,000
O3 &l 10,000,000& 10,000
odx= 7,000,000 7,000
02 3=2gH| 120,000 116,000 4,000
O2Z22Z2Y A 70,000
oREZE LSERS 66,000,000 66,000
ol= AMEZEEAS BE= 4,000,000 4,000
O Al & &H| = Xl HI 15,000,000 15,000
OXtg A et| 35,000,000 35,000
03 SHAI2HHI 10,000 10,000 0
OZHMAM(RPE)EAl =& L B2SHA}
10,000, 000& 10,000
202 o4 Hl 44,042 52,552 A8,510
01 2] 34,042 42,552 A8,510
oA=& 34,042 ,000& 34,042
04 = M3 YI 10,000 10,000 0
O=HMAXMEA =& &2 10,000,000 10,000
203 R EXH| 47,000 48,000 A 1,000
03 Al =&AL =&Y 47,000 48,000 A 1,000
O0A=2J1Y EXNFX RN 4,000,000& 4,000
O0OY -S4 NMMZAHZAl WFEZSE JL2FF
3,000,000 3,000
O - g&t=d L BogR =X
4,000,000 4,000
OAE - NHEE HREFX 4,000,000 4,000
o9 Al HR2FA 3,000,000& 3,000
OYZEIUN HHA2HS 928 9FF=&
4,000,000 4,000
OXNEELME THIEE HR2FX 4,000,000 4,000
OMEtiE 4 HdRFA 4,000,000& 4,000
OXNEEN &85 GRFA 4,000,000& 4,000
OMEA sMHE HRFA 7,000, 000& 7,000
OXNEZEMNE HdRFA 3,000,000& 3,000
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SN SR
HH: NYHE Ay YSHUUTDUE/LUHE)
ool RO 24 EE MM 25 ECR-ED
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
O=2I1D|I8tE S 2K 3,000,000& 3,000
301 LEtB A= 24,000 20,900 3,100
01 MSIEEE 262 4,000 900 3,100
OSERSA RF U 24 4,000,000& 4,000
07 212t01 =22/ (4 Hi 10,000 10,000 0
O= MRz s 22tol =04l 10,000,000 10,000
08 2HI =30t 10,000 10,000 0
OXHEZAI(LE DIQAIANRE B2AXH 0]
10,000, 000& 10,000
306 E¢H= 7,500 7,500 0
01 &3 7,500 7,500 0
OSt=a NI MMt E2HS
7,500,000 7,500
405 XH&EHFE S HI 4,000 56,000 A52,000
01 AMMAtE 22 FH SHI 4,000 56,000 A52,000
O2MIAXE SAS SAHI 7€ 4,000,000 4,000
WS 22sA I 63,449 16,105 47,344
101 Q1 21| 37,699 16,105 21,594
04 J12ZtH22XNSES 37,699 16,105 21,594
OFUAIE XEIAH2Y) 37,699,000& 37,699
201 Let2HH| 11,000 0 11,000
01 AFR2t2|d] 11,000 0 11,000
OYBt=2H| 11,000
ocRUAMNY A=EE 7Y 6,000,000& 6,000
o A EH Q! 5,000,000& 5,000
405 KHAHFE S| 14,750 0 14,750
01 MY 2SS FH SHI 14,750 0 14,750
OFUAY &EII7L 14,750,000 14,750
s 22| & g2t 29 45,880 91,302 N45 422
201 Let2HH| 45,880 23,920 21,960
01 AtR2t2|dl 9,600 9,600 0
ogHaed S5 F2¢ 9,600,000& 9,600
02 324l 36,280 14,320 21,960
ou2tAl &H| SXIE2H| 6,000, 000& 6,000
OHEZJIS2e AMAY X2l 30,280,000 30,280
SXE L HAUNY =23 Was 45,000 55,000 A 10,000
308 AAXIHAMSOIA 25,000 25,000 0
07 diHIZE4dXNJBZAEX 25,000 25,000 0
OSgtdRE2s 29Hl N 25,000,000 25,000
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fA: SR
M YA iz USHUUDDHE/YoHT)
el RIIXel R4 BX MM 23 CR-E]
M- B SR(B) - HRAY - BE S Ak e 2
401 A& Bl 2 CHHI 20,000 30,000 210,000
01 Al &l 20,000 30,000 A 10,000
oMbl S22 HE= 20,000, 000& 20,000
SXNS&Y HAADI|EE 2,466,570 2,408,270 58,300
2 SRAY XX 2,372,170 2,290,020 82,150
201 et A | 1,652,070 1,591,320 60,750
01 At 2teltl 1,646,070 1,585,320 60,750
oget=8gH| 4,320,000 4,320
o2g=+¢ 78,000
o . =xg 78,000,000& 78,000
o= gl 7,000,000& 7,000
OXE HEBH=XAY 1,556,750
oXNE HHEE 310,750,000& 310,750
oMJIHE, HOlME, AL S
1,130,000,000& 1,130,000
oA SEALHA 200,000& 580 116,000
03 A2 Z I 6,000 6,000 0
OXAM=CH M=l 6,000, 000& 6,000
202 ¢4 4| 160,000 160,000 0
04 = M3t I 160,000 160,000 0
SE oot A= 160,000, 000& 160,000
301 etE a3 10,000 10,000 0
12 J|Et2 43 10,000 10,000 0
OEIX(ZE)SRA JIEE ¢ 10,000,000 10,000
303 &=z 538, 100 516,700 21,400
01 ZL&3 538,100 516,700 21,400
oA TH(ZRoNESSE 410,000
< QA 100,000, 000& 100,000
< 1Al 100,000, 000& 100,000
< 2A 70,000,000& 70,000
SEN 40,000, 000& 40,000
=4 NI~5A 100,000, 000& 100,000
O& A HIOtAE 100,000 881 88,100
OFIIZESRA X Hst 500,000& «70H 35,000
S22 H=slal NS 5,000,000& 5,000
307 2I2tol A 12,000 12,000 0
06 23 12,000 12,000 0
O HAHZSRH MELEZ 60,0002 *200H 12,000
s3 g4dst F4 43,000 43,000 0
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SN B2
HI: UM Ay Y (YNBZTHE /L)
cel: B2E sMY 2 (ol ® 2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
303 Zat2 8,500 8,500 0
01 ZAZ 8,500 8,500 0
O[22 AA4E 7Y 6,000,000 6,000
OES0l At AIMSE PR £ HE)
2,500,000 2,500
308 X XISHH SO0l & 60,000 60,000 0
05 RHXI SRR S 2 60,000 60,000 0
OXNYB2LA Wssd 2432 60,000,0002 60,000
S5 QA 2 665,700 743,125 NAT7,425
101 Q1 24| 61,020 59,174 1,846
M4 IIAR22ASEES 61,020 59,174 1,846
OZEASIHA 61,020,0002 61,020
201 L2 A 26,200 26,200 0
01 At 22l 26,200 26,200 0
oYst42Y| 7,000,000 7,000
o2g+4 9,600,000 9,600
oYxtz 9,600
o FEHBXHI(UMDEX QHEIB)
7,200,000 7,200
CcWEXHHI(QNAID R QIMIEIE)
2,400,0002 2,400
203 &R 4,000 4,000 0
03 Al =X RFAIY 4,000 4,000 0
OQAMNRY HIRFX 4,000,000 4,000
204 DR AHY| 420,480 413,520 6,960
03 SHYLAEH 420,480 413,520 6,960
OLANEY P48 80,0002 x6 % x 128 5,760
ONREY A2 100,000 *53% » 12 63,600
ONAES R4 150,000 x6 % « 12& 10,800
O0ESS AR+ 100,000 x6 2 « 128 7,200
OZPAHH L24s 60,0002 x 1% 128 720
oo syl 50,0002 x554 % » 12 332,400
307 DI2t0I & 104,000 104,000 0
07 ASX22 104,000 104,000 0
OZRAMHEA S0 2,600,0002 40 104,000
309 M2 50,000 136,231 86,231
03 BRASAUCIBLANNEZ 50,000 136,231 A86,231
OBLAXNY ZNHHESS 50,000,000 50,000
ABIBHEE U AIE B |5 1,941,858 2,109,831 A167,973
= 8,381




SN B2
HE: MU oY YSHLUDTDHI/LUHT)
el AIRISIE U AR O RE (=EREE))
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O &F 24 Sl ko HRs2
< 29,337
Al 1,904,140
LM 2 H =3l oH KK & 13,381 8,382 4,999
= 8,381
Al 5,000
101 Q1218 13,381 8,382 4,999
= 8,381
Al 5,000
04 JIZHNIZ22XRSE+ 13,381 8,382 4,999
OZHMNZHMs& Lokt XI& 13,381,000& 13,381
= 8,381
Al 5,000
Aol 7 HALY 3,000 0 3,000
307 2I2H0I 3,000 0 3,000
04 BIZHHALE X 3,000 0 3,000
ORI2tol S|t g AZA 3,000,000& 3,000
olsds JI=dd X3 100,948 100,948 0
= 16,377
Al 84,571
201 ZEt2FH| 99,110 99,110 0
= 14,539
Al 84,571
01 AR 2teld| 99,110 99,110 0
OOISE ol AsH2E= M 99,110,008 99, 110
= 14,539
Al 84,571
301 et a3z 1,838 1,838 0
= 1,838
10 HAIAHIE &3 1,838 1,838 0
ORHIESE ¥ SHS3E A=+ 1,838,000& 1,838
= 1,838
I2EgEAY X 33,200 36,800 A 3,600
& 12,960
Al 20,240
301 et a3 15,000 20,000 25,000
& 7,500
Al 7,500
02 Zetadetia 15,000 20,000 25,000
OMOIEXNEX HHES S 15,000, 000& 15,000
= 7,500
Al 7,500
402 QI2t X201 ™ 18,200 16,800 1,400
= 5,460
Al 12,740
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SN B2
HE: MU oY YSHLUDTDHI/LUHT)
el AIRISIE U AR O RE (=EREE))
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 glggf; HRs2
10 HAAHIE A= 101,420 101,420 0
OANZAI A EILIH A”I2 4 26,800,000 26,800
OIS & BAF BIIR AHIEA
1,000,000& 1,000
OSYEMBY A0s AT AHLA
7,400,000& 7,400
OOISZEIS MOILE HAT AHILA
1,220,0002 11,220
ORHOISH 2UYoI4 HAT AHIBA
16,800,000& 16,800
OMOISXIER DT FAT Ay 23,000
Sk 9,000,000% 9,000
o=ZYAHR W= 4,000,000& 4,000
of W=E 4,000,000& 4,000
oXM= MOtSXI XS 6,000,000& 6,000
OHI2AHAIISE D] HAT AHIEN 8,200
oEYWS UL MISIAMSE 4,200,008 4,200
o WE ¥ FY3AU 4,000,000& 4,000
OBINKEAY DT HAT AHLA 7,000
oczdu=s ¥ Md=3AU3Z 2,500,000& 2,500
o W=E ¥ 23U 4,500,000 4,500
306 %= 25,000 25,000 0
01 £ 3 25,000 25,000 0
OY=REEAIIZ 2013 25,000,002 25,000
307 2I2tol A 169, 150 164,150 5,000
02 Sl2tF a8 = 99,150 99, 150 0
ONBZEX S HHMHK NAHE X
30,000,002 30,000
OMEH Malr ME SZul X
2,000,000& 2,000
OMOIZ2D OISTHZ 294 X 3,150
oXBASH X 1,800,002 1,800
oA Zadl X 1,350,000& 1,350
ousgll =AM 28U XA 7,000,000& 7,000
o020l 2FAIHC 2T Al X
2,000,000& 2,000
OO0l &tits M=z XI&  20,000,000& 20,000
ONSUHUY B0IS HIHS N
5,000,000& 5,000
obl=EHstEsdtE3lo K& 30,000,000& 30,000
04 BIZHHALE = 70,000 65,000 5,000
OdHS0l HAHI X2 30,000,000& 30,000
ONeIel & Il CH25 022 A X
10,000,000& 10,000
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SN SR
DU U oY USH(UNBIUT/YBHUT)
el AIRISHE % AIE B0 RE (el a2
_ _ _ Muo
SN - B S(3) - HRAY - BAS Ofl &k 04 il b o HlmE 2
CEEEE N EECEREE
10,000,0002 10,000
OMOISIHE CHYTIS XI® 15,000,002 15,000
OJIDIESYBHAHl S SAF 27 5,000,000 5,000
401 A& HI Q2T 547,000 780,000 £233,000
01 Al 547,000 780,000 233,000
oMOIS 2FII F 5,000, 000%! 5,000
SYSFURKME OIHAE 2K (2250
) 280,000, 0002 280,000
OLSSFUNIME AEST K
262,000, 0002 262,000
405 Xt &3 S 50,000 50,000 0
01 R U2 EHSH 50,000 50,000 0
082S 3 FII7Y 20,000, 0002 20,000
082E 3 =Y7Y 30,000, 0002 30,000
A+ &I € R X 2 80,000 178,550 1,450
307 B12¢01 ® 80,000 178,550 1,450
03 ABIEHH 2 £ 2 80,000 178,550 1,450
OMEA BES23 e 3,000, 0002 3,000
OMBAIMOIZS 228l XY 85,000,008 85,000
OHIZHAIIZS AEANEE 2 X
41,000, 0002 41,000
OBRNREBHY AFAXE SYH| X
21,500, 0002 21,500
OUESUAMFAEAE N 3,000,000 3,000
OHPR WNHY AEXAHAS X
7,000, 000%! 7,000
OMEAl HIESEINE A8 A2 X2
3,000, 000%! 3.000
OMEA HEH23 X 10,000,0002 10,000
OMELISHSBNAMEH BR0{DA 29 X
2 4,500, 0002 4,500
OME B Z23 X 2,000, 0002 2,000
NEEEBIEE 59,000 158,400 600
301 YBB 4 1,500 900 600
EICTERE 1,500 900 600
OMIIESNLBSI| 24X O1S2lH HX
012 900, 0002 900
OMIIZSNYRSI 24X 0122lH A3
& AP 600,000%! 600
306 012 7,500 7,500 0
JEEE] 7,500 7,500 0
CEENERES I 7,500, 0002 7,500
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2M: St

P Bty gk Agi(Lers28d HH)

& 2igter € A" &30 & A
M- B C (B H) - NEAIY - BHA2 A} OH &EIE St
402 QI2HAH20| & 150,000 150,000 0

01 A2t 2E8x 150,000 150,000 0
OFAIIZ2 0I2IHRI| AL (5HA)
150,000, 000& 150,000
HEAN 2EH2SFA 222,960 220,960 2,000
201 82| 22,960 20,960 2,000
01 At22t2ldl 2,000 0 2,000
OXxlIeteolg 249 2,000,000& 2,000
02 3329l 20,960 20,960 0
0322= % HMA 5,000,000 5,000
OANEFHISXHI (R 2H730)
15,960,000& 15,960
401 AIEHIZ 2] 200,000 200,000 0
01 A& I 200,000 200,000 0
ogge CCTVAEXI(12I04) 200,000,000 200,000
EMSISHMH (LS /EHM - 2Agw 622,556 610,956 11,600
= 26,000
= 2,500
Al 594,056
HMSISHHE 2= 622,556 610,956 11,600
= 26,000
& 2,500
7 Al 594,056
HMstsHH 29 161, 156 145, 156 16,000
201 LB2IH| 74,156 74,156 0
01 AtR22t2|dl 48,632 48,632 0
oggt+=2Y| 36,312,000 36,312
o=2g+Y 1,920
cHMIN=EHOlG ALY 1,920,000& 1,920
o=l 3,000,000& 3,000
oYdxt=z 7,400,000& 7,400
02 2229l 25,524 25,524 0
O22LZ2YHA 25,524 ,000& 25,524
206 i = | 3,000 3,000 0
01 XHE I 3,000 3,000 0
OEMIE T2 Ns WaH(DLWH)
3,000,000 3,000
301 B AZ 24,000 24,000 0
10 HALAIHI B A= 6,000 6,000 0
OHMSIS2H AL s EAX AHIE4A
3,000,000 3,000
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SN 2D

Y ONSH(NS/RILESSLS)
Sl QTSN & WEEA A (&te: @
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
ollled ¥ nesd e 5,470,477 4,922,502 547,975
= 85,360
2 45,000
Al 5,340,117
olesd =& 4,633,763 4,042,495 591,268
201 Lpt2AH 7,800 7,800 0
01 AtR2telH 7,800 7,800 0
O Bta=2H| 3,000,000 3,000
o294 4,800,000 4,800
203 ¥ R=ZH| 4,000 5,000 A 1,000
03 Al =R =Y 4,000 5,000 21,000
oolEed gR=x 4,000,000 4,000
306 == 800,000 800,000 0
01 =013 800,000 800,000 0
OAEAl CIHELAS TS A2
800,000, 0002 800,000
307 @12+01 ™ 154,000 154,000 0
02 QI2tHAEX 154,000 154,000 0
O0I=2WastA T2 )2 X2 (10Y)
154,000,000 154,000
308 XX EHMISO0I A 3,667,963 3,075,695 592,268
06 NI Z0HBEES 3,667,963 3,075,695 592,268
OstnZAl AEH X 373,900
o4 SEME XY 373,900,000& 373,900
O nNZAa SAZAH XY 1,926,563,000 1,926,563
OH2M HI=&n QHEE 2O
150,000,000 150,000
ORI WA HE(19H) 550,000,000 550,000
OR0Bl Hat S0ast AFY X
45,000,000 45,000
OZSYHERA 29 NHA(HEEH)
200,000, 0002 200,000
OxSuNE E'I2Y 29 XA
60,000,000 60,000
owlt=E &1 X|A(=-101) 50,000, 000 50,000
O==, PSS XY (22HD)
105,000,000 105,000
OAESXY DMRIAH X 45,000,000 45,000
OYSMstn HEHE XNA(S, 11HW)
27,500,000 27,500
OXS &Mols sw T2 2
20,000, 000 20,000
og=0el &1 XA(MD) 5,000,000 5,000
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SN B2
ol NS (RS/ROLEESDE)
SRl QWSS Y DS HA (e
_ _ MNuE o
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OYBW!EAT S4 X2 50,000, 0002 50,000
OME SRS N 50,000,000 50,000
OWDE DB A =& 10,000,000 10,000
DESAMA 330,000 310,000 20,000
308 XX EHHI S OI & 330,000 310,000 20,000
06 LI BONBEES 330,000 310,000 20,000
OBEAZ Algstn X2 30,000, 0002 30,000
OOHIAE D X (M4FEZD) 100,000,0008! 100,000
ORI - DAX NA(AMED) 100,000,0008 100,000
©JI1%% nm XNV (8LD) 100,000,000 100,000
ZZEN N 298,694 347,694 49,000
= 45,000
Al 253,694
308 XHXI €IS 0 & 230,000 230,000 0
06 REII2OHE2ES 230,000 230,000 0
O0RI0l YUHEND 2 150,000,000 150,000
©0l210] HOTAHZ AT 30,000,0002 30,000
OO0{RI0l YOEHZ HIZBPY  50,000,0002 50,000
403 KX EHHI S 20| & 68,694 68,694 0
= 45,000
Al 23,694
02 2 J12H S Oll CH BHCH 8 AL 24 68,694 68,694 0
OBZENT 2P| 68,694,0002 68,694
2 45,000
Al 23,694
SOEHP X 208,020 222,313 £ 14,293
= 85,360
Al 122,660
307 212+0| & 208,020 217,313 £9,293
= 85,360
Al 122,660
05 212t er2 208,020 217,313 £9,293
OAE 01210l SUEND YUHE
170,720,000 170,720
= 85,360
Al 85,360
OAE 012101 FUHEHD 2|
37,300,000 37,300
HH2YAU(Z2D)(OIEH/IIE 52,605,513 50,630,922 1,974,591
= 110,250
Al 52,495,263
=LY 52,290,633 50,332,425 1,958,208
=2 110,250
Al 52,180,383




2N B2
Hu: WESARY (S2D)(IEH/IIE)
©el: QERAEH [EZ] (el =3
SNBSS NRAY - B2 0] &F o e HlE2
el 2| 52,133,133 50,332,425 1,800,708
101 21 24| 41,647,311 40,814,986 832,325
01 2= 38,822,182 38,214,099 608,083
os=s 26,368,733
SN 74,152
-¢E 74,152,000& 74,152
L= 5,848,000 x5 128 350,880
ob 3,673,000 x42H 123 1,851,192
1= 3,149,000& x199H «12& 7,519,812
o7= 2,694,000 x223H « 122 7,209,144
=8z 2,129,000& x180H 122 4,598,640
°95 1,674,0003 128H <128 2,571,264
o X &2 4,306,000 «3F «12& 185,016
o Xl At 3,127,000& x30H 123 1,125,720
o A AL 1,768,000& x 12+ 123 21,216
SPSESVE 25,477,036,000& *3.5% 891,697
odu= 1,945,778
oF¥2sd 25,943,701,000& *0.9/12%100% 1,945,778
Oxl2R=H 1,758,415
obs 10,4863 »21H x40A| 2t 123 105,699
1= 8,9433 x 112 »40A| 2tx 128 480,776
o7= 8,0783 x134H »40A| 2t+ 128 519,577
Sde= 7,252« 114B x40 2t+ 128 396,830
95 6,555 61 »40A| 2Hx 128 191,931
o A AL 8,620 »1H «40A| 2H+ 123 4,138
SPSEV R 1,698,951,000& *3.5% 59,464
(OFSRLES: 3,262,830
otEsdE 593,895
— <At 40,0003 «814H +0. 78+ 12 304,762
&5 20,0002 814 +0.40+12& 78,144
-l 20,0002 814 x1.08+12& 210,989
otHEHIEXY 315,183
-4 268,890& +814H +0. 36+43] 315,183
oFI2LEIE 899,760
- 54H~04 50,0002 * 121 «12& 72,600
—1048~144 60,0002 x16H 122 11,520
—158~194¢ 80,0003 142 12 136,320
—208~244 110,000& 1922 123 253,440
—253 0l &t 130,000 *273E «12& 425,880
cEXZR2(THENH) 960
==V DA 40,0003 «2H +12& 960
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SN ELD
HH: HA2AAH(S2)(IIEH/DIIE)
el AR [S2] (ctel: &
S HE - S(EH) - NRAY - BES sk oy e 2
oY 50,400
-3 50,0003 »40E 12 24,000
-3 40,0003 xb5E «12& 26,400
cRHIPRASL 50,000 x8H 128 4,800
cHSERAE 750,000, 000& 750,000
Jl=d3ExE 195,720
-5 50,0003 *11E~12& 6,600
-6~72 30,0003 »225H »12& 81,000
-89= 20,0002 x68H 12 16,320
- X2 60,000 x2H 128 1,440
— XIS At 50,0003 x29Z x 12& 17,400
-Jiet=s 40,0003 x 152 12 72,960
coZHARY 34,656,000 34,656
oMBARY 6,720,000& 6,720
oM EXNSTRFE 30,000 82 123 29,520
CABZXYR4Y It
30,0003 43« 12& 15,480
cRIAAPY 30,0003 65 x12& 23,400
oMM 50,000 x5 H 128 3,000
oY 89,736
—ot= & MYDIIM2E
230,000 «28H «12& 77,280
=S el Py 250,000 x4H ~ 123 12,000
-sdlsg 38,000& x1H~12& 456
ocgHES2RE 70,0003 188 12 157,920
S oA 11,880
—4= 100,000 x1E »12& 1,200
-5 80,000 x2H 128 1,920
-6 60,000 x3H «12& 2,160
—7=0|ot 50,0003 x11E~12& 6,600
K05+ 500,000& x10€ 128 60,000
cWIRMASL 19,800
TR = 50,0002 *3H 128 1,800
-tz 500,000& 3« 123 18,000
OZUEXH=Y 30,000,000& *10 300,000
OFUZAHI(HE, HLAILF)
130,000 «868E 12 1,354,080
OYHFIIHI(HE =&
26,829, 190,000 *120%1/12 2,682,919
OAIIEAHI(BE, HAXEE)
27,586,248,000& x1/12%1/30% 15 1,149,427
02 JIEtA E = 1,553,796
OFJAZZ(30Y) 1,142,337
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Eay
HY2HZU (SR (IIEH/IIEH
ol Y| [&52]
CEE S (BH) - MEAY - B2 Abod e
S = 855,544
— 1540/ 2t 2,021,400 *11E 123 266,825
- 1549~30 2,582, 1002 19 x 123 588,719
o X R 855,544 ,000& *3.5% 29,945
o2 66,412
-d2=4 885,489,000 *0.9/12+100% 66,412
cItEY 21,888
— B Xt 40,0003 x30H +0. 78+ 123 11,232
—-&5 20,0003 30 «0.40+ 12& 2,880
-Hl& 20,0003 *30E «1.08+12& 7,776
oXtHEHIBEX+Y 11,617
-1 268,890& »30H 0. 36%43| 11,617
oc¥I2HIHE 32,280
—-5&~04 50,0003 x5F x12& 3,000
—108~144 60,0003 x3E x12& 2,160
—158~194 80,0003 x8H x12& 7,680
—208~244 110,000& 108 123 13,200
—259 01 & 130,000& x4 «12& 6,240
oExIWIRH 109,991
A2t 22
6,911& 26 40A| 2+ 12 86,250
- 0222 2,479 x3H+40AI 2Hx 128 3,570
-522g 56,0290 x6H +5 12 20,171
cEEEZ 1,127,677 ,0002 *1.3% 14,660
O& U H A=A 411,459
oS (A5tH) 392,442
= 46,596,000& x6H 279,576
—-ct=2 40,880,000& x1H 40,880
-0t=2 35,993,000& *2H 71,986
o X R 392,442,000& *3.5% 13,736
cNESBHEF 406, 178,000& *1.3% 5,281
03 RINHAZ2Z2 N ES 1,271,333
ORJIAAZZ A EH 350,000,000 350,000
ORINAHAZZ A 24X ZH| 20,000,000 20,000
ORINHAZZX 4UEE =
5,256,295,000& *13% 683,319
OdIMa 22l(2Y) 42,562
=Jlzg 36,0003 »2H 365 26,280
o2 HIHAZ 36,0003 »2F 2512 11% 1,988
ol|dg 853, 000& 2 *400% 6,824
o A2t 7,920 x2H x20 Al 2t x 12 3,802
cHXtRr=Eg 42,2403 x2H 15 1,268
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SN B2
M2 BHSAPH(S2D)(OIEHIIE)
SEREEEETI (25l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

o UZ AL 10,0002 x2 » 122 2,400
omE el(1y) 19,742
oll23 36,0002 +12§ x3652 13, 140
o2EINMB 36, 00021 +12§ #2512 +15% 1,356
ollesy 853,000 * 12 *400% 3,412
coRRB+Y 42,2402 %1% *152 634
oI UZ AL 100,000 %1%+ 122 1,200
ORUAY Z2l¥(3%) 73,349
oJl23 42,4509 +3% +3652 46,483
oR&IfArAT 42,4509 +3 +251 21 %8% 2,558
ollesy 987, 9102 +3 *400% 11,855
oN2tel AT 9,2202 x3% *20A| 2t 128 6,639
coxRa+Y 49,2001 +3% #1521 2,214
oI UZAY| 10,0009 x3 * 122 3,600
OUADIZ(1Z), Basts(2Y) 63,029
oJ123 36,0002 32§ +3652 39,420
S N 36, 00021 +32 +25121 #8% 2,169
oljesy 853, 0002 *3 *400% 10,236
oA 2Rl 4T 7,920%1 «3% *20Al 2t 122 5,703
coRtRI 4+ 42,2402 x3 * 152 1,901
oZAZA| 100, 0002 *38} * 128 3,600
OEFA B2(1F) 19,332
ollea 36,0002 +12§ 3652 13,140
o2 36, 00021 +12§x25121 +10% 904
ollgsg 853, 0002 * 12 %400% 3,412
coRRI 4+ 42,2402 12162 676
oAU Z AL 10,0002 *12 128 1,200

204 M@ 4 AH| 1,473,480 1,467,000 6,480

EEEES 1,473,480 1,467,000 6,480
OAZ 500, 0002 12+ 122 6,000
CENES 450,000 %1% +122 5,400
042 400,0009! 4 * 122 19,200
052 250, 0009 +44% * 122 132,000
062 55,0002 %2512 +122 466,860
o72 140,002 +303%) 122 509,040
08-93 105,002 *2338] * 122 293,580
CEE! 105,000 %302 * 122 37,800
OLA2LX 300,0002 1« 128 3,600

303 Z&2 2,633,828 2,087,806 546,002

02 & IHa01 2 2,633,828 2,087,806 546,022
CERINICE! 2,026,020, 8002 * 130% 2,633,828
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SN B2
HE: HHSIAZH (SR (IIEHIIE)
o9l ol oyl [£2] CLRE
A BB O(B) - NEAY - BAS Of o e Hl R =2
04 H=zRE=S 6,378,514 5,962,633 415,881
01 A3 2= 5,046,518 4,717,483 329,035
OfuF=E == 46,908,552,000& *6.7% 3,142,873
(COl=RFaE=, 46,908,552,000& *2.327% 1,091,563
OfI&a+Y 2Y3  46,908,552,000& *1.5992% 750, 162
OMNEL 23 46,908,552,000& *0. 132% 61,920
02 2CALEHZ 1,331,996 1,245,150 86,846
CEEEENCERTEE
46,908,552, 000& *2.665% 1,250,113
OLoFIRQRAEYE 2=
1,250, 113,000 *6. 55% 81,883
S3=XNEEMAH N (BEX) 157,500 0 157,500
2 10,250
Al 47,250
101 212 d| 157,500 0 157,500
2 110,250
Al 47,250
01 2= 157,500 0 157,500
OZBZ=XNEEXNAH M A 157,500, 000& 157,500
2 110,250
Al 47,250
JlE2ZHl 314,880 298,497 16,383
Jl2Z | 314,880 298,497 16,383
201 B2 HH| 10,000 10,000 0
01 AR 2teld| 10,000 10,000 0
O t=ZH| 10,000,000& 10,000
202 0dl 97,920 81,600 16,320
01 =LHO B 97,920 81,600 16,320
OZUHE=&H0WHI 240,000& *34F 123 97,920
203 B2 =Zd| 107,360 107,297 63
01 I 232G LR F8Y| 82,500 82,500 0
OAIE 79,200,000& 79,200
O&ER=2 29 3,300,000& 3,300
02 HRAJtetH S| 20,300 20,237 63
A& E A 20,300, 000& 20,300
04 FEN2ILRFEY| 4,560 4,560 0
OFAN2ZE =AY
(350,000 «12& )+(5,000& x6H «12& ) 4,560
204 MR AH| 99,600 99,600 0
01 ¥ S HRHAH| 99,600 99,600 0
OAIE 650,000& x12& 7,800
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02 Of
I 0% 40
oY Ho &

N
=5

SZHI(Z2)(JIEH/DIIE)

f

CEE (S - MRAY - HAS

22
J2

O ANE
O4=

400,000& 123

400,000 x 18«12
350,000 x3E *12&

150,000 «17E x 128
100,000 25 x 128
100,000& »1E «12&

100,000& «2H 123
50,0003 «1& 128
50,000 x8E *12&

4,800
17,400
4,800
12,600
60,600
30,600
30,000
1,200
3,000
2,400
600
4,800
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